Workeheet L Sobons

2. Below is the graph of f'(z).

Y (a) Suppose that f(z) is continuous on [0, 6] and
f(0) = —1. Sketch the graph of f(z).
o—o

o—o (b) Suppose that f(0) = —1 but f(z) is NOT

2 continuous. Sketch a possible graph of f(z).
? ® How many possibilities are there?
T
0 2 4
o—o

(00 Ec\c.\v\ ?‘.ue. oc ;"(x\ 15 a CO“)\'&(\"’.
and  fhe

ankdeavainuve og ‘F,(X\ KH) ‘\t(x\ So n 8‘1\”6\\)
Porce  ond $6)= ex+ b‘_a‘zﬁ:ﬁ. NSRRI

Wil hewe o shpt eqel 4 Py ove
thox demern, and {:\\L kel condifien and

Cor\{%r\u'-‘a condifieon 3"\"-! s o 3ra?‘~‘

()10 foy didet howe o be  contious, Hhen 1xd kaow
the 5‘69: of ead line Sequmant Lot not it b’

The ce o ialimle  norbe of T:es.s’n\,\t %u‘a\\s.
(88 'Y

g,: zsco.r\e\o. :

N
I

0 / 2 4 v
- OO0




3. (a) Write the following definite integral as a limit:

(b) Write the following limit as a definite integral:
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4. The graph below shows the velocity of a car as a function of time.
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(a) Approximate the area under the graph for 0 < ¢ < 6 using rectangles and right endpoints.
(b) What are the units of your answer above? What might the area under the graph tell us physically?

(¢) Is your approximation in part (a) an overestimate or an underestimate of the actual area? Would
your answer change if you used a different number of rectangles?

(d) Would your answer to part (c¢) change if you used left endpoints instead?
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